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a=1 A=[123;456; 7810]
a+2 A/2
b=a*3 b=[2; 4; 6]
A*b
a=[1 2 3] b’
a*2 det(A)
b=[2 4 6] inv(A)
atb
b’ X=A¥b Ax=b
a*b’
t=0:0.1:5 p=[1 2 -3] $+25-3=0
1=0:5; 1 r=roots(p) $+25-3=0
poly(r)
M
M
sinplot.m i addsub.m
sinplot E[a, b]=addsub(1,2)
% function [add,sub] = addsub(a,b)
t=0:0.001:10; add=a+b;
x=sin(2*pi*t); sub=a-b;
a=exp(-t);
ax=a.*x;
plot(t,ax)




MATLAB

t S1S0
o

A=[0 1; -4 -0.5]

B=[0; 1]

c=[1 0]

D=0

pause %

eig(A)

[num,den]=ss2tf(A,B,C,D);
printsys(num,den,"s");

pause

% x0=0, u=1
step(sys)

%

1=0:0.1:10;
u=ones(size(t));
Isim(sys,u,t)

pause

% x0, u=0
x0=[1;0]
initial(sys,x0)

DM_SS3.M

%
Uc=ctrb(A,B)
rank(Uc)

pause

%
Uo=obsv(A,C)
rank(Uo)

pause

%

p=[-3 -4];
F=place(A,B,p)
pause

%

eig(A-B*F)

pause

%

Q=[1 050 1] % Q=eye(2)
R=0.1

[F.S,E]=Iqr(A,B,Q,R)

pause

%

%

eig(A-B*F)

pause

%

p=[-10 -20]
G=place(A",C",p)"
pause

%

%

eig(A-G*C)

pause



SIMULINK
e P
& rME REE BTN hi-hE RO D W
D FE@ DR REY & o o

0+0.50+4sind =u
-~ 6=-056-4snf+u
[k | s ”
0(0)=0,0(0)=0
u=0 6(0), 6(0)
@)
_ =loi=i
A R B Wiy BRG0S0 My
D@ ' BF 2 BEY® b e a2
X u y

o | = i e
L H-m:'-l - LJ

e

State-Space C

Matrix Gain C
D
State-Space
Integrator D=0
Sy ===
1 F :

____________




